Varianta 67

1.
13.a) [12; 15; 18 203 05 18(.

a=12[¢, +6 a+6=12(c, +])
b){ a=150t, +9 = ja+6 =15, +1) = a+6=[12;1518 =180= a,,, =174
a=18[¢; +12 a+6=18(c; +1)

14. a) 2% +3x+1=0= X =-1 X2=—%-

b) Dad x=3=9m+ (2m-1)B+m-1=0=16m=4= m:%.

- (2m-1)-1_

-10Z , pentru oricarenCR " ;
2m

c)Dac mOR", A=(2m-1)°-4m(m-1)= 1= x, =
dad m=0= -x-1=0=x=-10Z.
15. b) ADAM = AABN .Deci ADM = BAN, DMA= ANB. Dar m( ADM ) + m(DMA) =90° =
m(BAN) + m(DMA) =90° = m(APM) =90° = AN O DM (DM n AN ={P}).
C) Aoz = 96CNT.
2\/594‘/—3_0

d) Anamp = DMZDAP =— 5 -4/6cnf. 9<4/6<10- 8k 96& 10 adevrat.




